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8 |TIUILFRATF L 0.031 363 0.004 363
9 |[77Va=kJ)L 1.6 142 0.040 143
10 |[77ulb A 100 459 5,279 17 442 2.7 106 6,405
11 |7V R A 0.089 0.089
12 |[TEMLTER 0.53 492] 2,520 26,964 86 1,872 17] 141 67 0.005 73 32,233
13 |7 E&h=FL 125 3.0 47 175
14 |7ER T ERY
5 | 7eF77
16 |2, 2 —T7 ALY T Fu=r L 0.013 0.013
17 [ANb—T=
18 | 7=V 0.10 0.028 0.13
19 1—73/—9, 10— T % /v
20 |2—T3)xHK)—)L 337 24,549 48,700 73,586
21 |rayxy
22 |74 7 m=)L 51 100 151
23 [T —=T3)T=x/)—)L
24 | AH =T )T x/)—)V
25 [ ART Vv 200 200
26 |3—T73I/—1—7m~
27 | A¥Ipmy
28 |77 ILa—)u
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56 |T=FLLAFUR 1,793 700 2,493
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59 [mFLLUTI 0.032 0.003 0.035
60 |=FL U7 UEERR 0.55 15 74 90
61 |~ %7 4,425 4,425
62 |~ratr 36,932 36,932
63 [T 7 eIR 2,835 2,835
64 |Th7xr Ty IR 646 69 716
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81 | /U 0.0001 0.0001
82 RN OF DKL AW 22 30 1.1 53
83 |[ZAS 1,280 2.0 1.0 1,883 103 3,269
84 |ZVAFY—/L 0.027 0.026 0.053
85 |ZILHEILT LT ER 54 0.67 55
86 |71 — /L 5.1 62 2.2 69
YR A=ON QO =P N (A= Y] 6.2 0.66 5.3 45 3.3 61
88 | NfliZu2b &Y 1.4 1.4
89 |/unr=Jr
90 |[ThITv 1,215 1,215
91 [>T FTv 230 230
92 |FMLT7z BTR 948 948
93 | AhTIm—)L 1,282 1,282
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105 |HCFC—124
106 |HCFC—133
107 |CFC—13
108 [ A7y 1,168 1,168
109 | A/Vh—ZruahlLxT
110 |[/XF—7ZnmuhlLx
111 [2—mamn—4—=taT7r=Jr
112 [2—Zoo=fa B
113 v~
114 A H )77 73 73
115 | 7= IR 1,045 1,045
116 |[~FTTFT VIR 10 10
117 |77 a3/ —)u 1,755 8.3 1,763
118 Roma7X=)L 35 35
119 |7z 73— 86 86
120 (A /vbh—ruauary=z/—/)b
121 V89 —pnnrx/)—)L
122 |2— a7 ub’ 4 g
123 [HEfe7 U
124 |73vay 220 220
125 |[7ap~_ ¥ 416 1,715 63 4.4 2,199
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225 |F) 7Ly 3.6 3.6
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254 | A7 T~ TRA 17 17
255 | FHTOEY T =)L T—F )L 0.074 0.074
256 | T Wk 0.14 0.14
257 |7 H/)—)v
258 | NFHPAFL T T 1.5 1,565 2.8 1,570
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274 | H—xV—RTho T4 —L
275 |R7 2 /Vhig T R o A 715 452 1.1 19,079 8,645 28,892
276 |ThTmFL L~ HI 0.98 7.7 8.7
277 |N=F L7 143 137 280
278 |[NJ=FL TR 2.4 24 26
279 |1, 1, 1—RM)rpooxx
280 |1, 1, 2—RN)rpoox k.
281 |NJZom—FL > 17,101 19 11 17,131
282 |~ anfEiz 0.77 8.7 9.5
283 |2,4, 6—hN)/ou—1, 3, 5—NT7Y
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285 |rvoot sy 257,444 257,444
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309 | =7 UALEY) 12 2,012 9.9 11 2,045
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311 [FNbh—=haT=Y—)L
312 A Nb—=btaT=J
313 |=hZ Uk
314 |/NNT—=ppZup~ B
315 |[A/Nh—=hrMlL =z
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318 | “HifkRE 0.67 0.056 0.72
319 | /v~ — /=)L )La—)
320 | /=T x/)—)L 0.054 0.23 0.28
321 (INFUUMMEEW 0.039 65 0.51 66
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341 [TV
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367 [ANb—HH)—TF )N Tz /)—)L
368 [4—F—xV—TF)NTx/—)L 0.24 0.19 0.43
369 |7/ LEy R 5,670 5,670
370 |[EUF N 40 40
371 |77 7 TR 90 90
N— (F—%)—TF)) —2—_ VS F7T
372 SV Z)VT 2T IR 8.4 8.4
473 2—H— ) =T F ) —5—AF )L T =
J—)
374 | 5o bIKFE R OE DK IEMEE 507 1,816 2,323
375 |2— 7T F—)L
376 |7 X u—)L 3,114 3,114
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378 | 7o R 24,290 24,290
379 |2— 7’ —1—F—/L
380 [\ —1211
381 |7 uE/apAZ 206 71 277
382 |\ —1301 45 45
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385 |[2— T aETa
386 |FALATF L
387 |Fft7 =2 T HAX
388 | RANLT 7
389 ;iﬂLT SIVNIAFNT e =y h=rmY 14 1,004 176 1,194
390 [ NFHAFL U UTIV
391 |[~FPAFLL=UAVL T F—h 1.0 1.0
392 [~ —~FH 44,299 1,563 4,803 111,413 1,532 0.51 ol 163,631
393 | _FFTh—/L
394 | VU LK OZEDILEY
395 |[~ULASY T RREROD KRR 1.1 1.1
396 |PFOS
397 |y =RralR
398 [H kDL 0.009 0.009
399 [ XU X7 TR 0.003 225 8,079 84 280 14 35 0.00009 8,718
400 |~ P 2,760 2.1 8,650 438] 115,922 1,547 4,047 204] 141 95 2.7 59| 133,867
401 jk’t;f A= BRI ARL, 2= 100002 0.000002
402 | A7 = F ok 232 232
403 |~ T2 0.004 0.005 0.009
404 [ ma7 e )—L
405 [13HFILEW 66 246 36 348
406 |PCB
R mFLo) =T LF /L —T )b
407 | (T VN EEDRBEN1203H15FTODL 4,323| 24,789 10 202,839 10,994 242,955
DR OZDREWIIED, )
408 i”_(ifi/iﬁ//)_jy%ﬂ/7i”l/ 56/ 6,060  0.86 371 30 6,517
R (AFT=FL o) =RFilo—7)L
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410 i%ﬁwiﬁ//)_/*"wji*"m‘ 901| 12,501 28 650 191 14,272
411 |[FRV AT LFER 25,871 311 1,658 660| 62,249 254 8,374 52| 423 45 11,722 436 o1 112,078
412 |~ H U R OZEDILEW 3.9 2.9 3.4 6.3 16
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414 K<L AR 0.014 0.000005 0.014
415 | AZ VIR 32 1.1 33
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